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Time Allowed : 2V2 Hours ] [Maximum Marks : 75
SMleyenr : (1) =emardgl clleanmas@shd Fflurs Fsl LEard o 6rensr eram isaman

Instructions : (1)

@mliy :

Note :

GOy :

Note :

(2)

sflunriggs Gerdrare)b. Faliudlellenr @apulmulbar siend
aamarantl ILmerflib o | amquing Csflafsssaib.

had e sy ewulamer wl G rpgasnEGL LRSS
Ceusmr(Rid. LI misET auangaushE Cuandld LweTu(hsseb.

Check the question paper for fairness of printing. If there is any lack of

fairness, inform the Hall Supervisor immediately.

Use Black or Blue ink to write and pencil to draw diagrams.

Gleudilamrsarer epenm) Clflaysanerd Cesrarig).

This question paper contains three sections.

9fley - I/SECTION -1
(In&SIG L ienTseT : 15) / (Marks : 15)

()  @undflefler o érar 15 sflamasErsEn eflanL e Eseb. 15x1=15

(1) Smruys @oldlaiear dar@saiiv’ Gerer bThHm efenL sefle
Saeyb aflwrar allenanwd CaThEsHEH T(pSHe|ib.

(i) Answer all the 15 questions.

(ii)  Choose the correct answer from the alternatives given in the brackets.

1. =8 weallgear Coreamlig.

(pniflssr, oGofssT, <,eHGredwn, @ bdwr)

Primitive man evolved in :

(Africa, America, Australia, India)

[ &(®Ls / Turn over
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LenHpHOTE GHTW LITGLD (LPEeDD.

(gaflg SBHIBD. ambaifwrss Qsfssw, gl Gaul @evantiys Ha, Grmune
Lwer(RSSIb 2L ANLDSET )

One of the means of indirect transmission of a disease g

(Sneezing, Droplet from mouth, Placenta, Utensils of patients)

file acrpenelsd el SH(PSSID Qurugs Ggen WS B s8&Dg).
(@ evardgiana, Qavesorig bl g, ECTT@mL, apenarialT)
If a water soaked seed is pressed, a small drop of water comes out through :

{stomata, lenticel, micropyle, radicle)

‘@wmnr&%aﬂ@ T SH G Lientl :

(Benrd SL5HSD. o amameud HLSSHD, BGearT Sblos@ms FSSIBL,
R balasle T S35 )

The xylem in the plants are responsible for :

(transport of water, transport of food, transport of amino acids, transport of oxygen)

SHUIUS SRS srenpenphElIeld) -
(en@umL CriramTLGTSET, sf. Qul_Crmredlwid, FSIT)
What is called as “black gold”?

(Hydrocarbons, Coal, Petroleum, Ether)

S LDFL ApdgIsEanuLIal sdr FeurdasluuaUBHESID GUTW|H SHE0eneU !
(abaSluib - pbadlge ; ETR: I _TEme )
‘Ihe mixture of gases used by deep sea diversis "

(1Telium-Oxygen, Oxygen-Nitrogen)
S8 s SO HAeflai o drarg. sudfled o emar it ot
(erélgs iblad, LriLrfé sibleib)

Vinegar is present in acetic acid. Curd contains __ __ acid.

(Lactic acid/ Tartaric acid)
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GTHS 2 Carsld Ungregs)_ e Comhgralb si5nE GQresswmmal srem Guwi,
LD @EWlsman DNEDLLIUSME e 1(Hb L\rss swemal
(Ag-Sn @lrgs seveney, Cu-Sn Ll15s sawael, Ag-Au Qires swman)

Any metal mixed with mercury is called amalgam. The ama lgam used for dental filling
is

(Ag-Sn amalgam, Cu-Sn amalgam, Ag-Au amalgam)

Balien gpeuigsar i L amarude = dra; Clgr_fsaflean sreimantldens -
(%17, 8,18)

Number of periods in the Modern Periodic table is

(7,17, 8, 18)

Srrseantil oGarsrs Q) EBSTE LD Wlenemrdenss sLgg) 8 ns). [ it
-G STIERTLOTE FLSEIFI M.
(Bellgs aers rrengser [ SAepamriiy TGV T GUTTET )

Lven though it is a non-metal, graphite conducts electricity. It is due o the presence of
(frec electrons/bonded electrons)

2 il Qarfle mu sas LhBGIF®aTS @alrs Qe @ertlifl Glgm e L
SIEnWUL|&ET

(e, MBI, A0Cuwraflwr @Cemmifen)

The freezing of biotechnology products like vaccines require freezing
systems.

(Helium, Nitrogen, Ammonia, Chlorine)

<20 R Bleir avL_wyeiar SbINuG 0.2 A BlenGesirl L i 2 mairsss GaaneuLHin

Lﬂehmwgg Ceumiim(.
(100V, 4V, 0.01V, 40V)

The potential difference required to pass a current of 0.2 A in a wire of resislance
20 ohms is

(100V, 4V, 0.01V, 40V)

HCarsurt 1nand GT T 15 S AV 4 A GHD.

(1Blen =ipss Caumun(), Wlenglpen, eiemThme, Wlsiagy L 1h)

Kilowatt-hour is the unit of

(potential difference, electric power, electric cnergy, cha rge)

[ ®Lys / Tum over
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14. 2 Gerssd sLgFul@e unyb BaCGarl b oigmerd sodl -en
2 (hEUI & ELD.
(Qeutiup, gafl, srHsi b, abilyelans)
An electric current through a metallic conductor produces around iL.

(heat, light, magnetic field, mechanical force)

15. &L luTrenat Gapurie &f Qe vt (HEmg).
(el Qaarey, @lltesaian, @il <pia. G5 <)
The defect myopia can be corrected by usinga __

(Convex lens, Concave lens, Concave mirror, Convex mirror)

lfley - IT / SECTION - 11
(odliGluamraser @ 40) / (Marks : 40)

GOl aCsed Bmug laésE@nss laorwalssa)in. 20x2=40

Note : Answer any twenly questions.

16. Gr wrdflurar @Qrieo_wisd, GGy TGorGsrd w90
gédmspaitadar. Qupmasurar @rlacwiser Gy wrgflwrar
GGrrGLrCamd Bemwlbe péSlemsnhselTseT.
£8p UL L snaussner 5&bs aligens Clsneam® (ppawluBss

(21) @Cr wriflurer @yl wigar (@ w1 an s mer

@rleLwisd /eas@ailss il @Qri e wrser)

(=) Gy wrdfwrer @riepL wiser

- (Coumuim{Ho@nL e
granuuheur [/ @Grordflurar seblanu o LW isenr)

Identical twins are syngeneic with similar chromosomal contents. Natural clones are
those who possess identical chromosomes.

Fill up with the suitable word given in the brackets.
(a) Identical twins are

(natural clones/identical clones)
(b) Identical twins are

(dissimilar to each other/similar to each other)
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18.

eneu L Oletigell @&enpuri_(h @ETLUSSSh @urr@g;g,]&.

u.61605T| emeuL_L_LBleaeT | Gsonur () Crmiissr
1 emaul_L flam A @l Gl o
2 sﬁ:-ew'_l:l_ﬂe-ﬁ B, evarel
3 ean’ L _10ar C MaGlaL_6h
4 eneul_L_Wler D ElECL1Cevmlluwm

Match the following vitamins with their deficiency discases.

| SL No. Vitamins Deficiency diseases
1 Vitamin A Beri beri
2 Vitamin B, Scurvy
3 Vitamin C Rickets
4 Vitamin D Nyctalopia

Gl Wer@ssiul Qerer  beails apeveruddn Wemsumbd OFwudsmer
sLOQUUESHD u@dser apermGul < Hmib <, eramy @lEs.
(1) peTge 2B LG

(&) UTTeney 2 emT(HLd LiGE)

| |

This diagram is of a human brain and the functions of different parts are given below.
Mark A and B in the parts of the brain corresponding with the function.

(A) Seat of smell

(B)  Seat of vision

4830
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19.

21.

Qariien 2ligluenLuie Cengl L @) sog Hrils.
sm-fzf;méwﬂsiﬂ - SEHELD amm LT el

U Famadlelr - _

Based on relationship fill in the blanks.-
Thyroxin : personality hormone

Adrenaline : _

EDseanL FmHN&ET SeUDTS B U sflwurar sapblensm (LGS,

(o)) pdur Qedser @ersdleanen 2 HusE Qewdlanar. Slr edsar
GerGaTaIene 2 HUSS) Qaldemmar.

(<)) BTSN (DL DL SEETLLD, e Grrgeenn 2 piss Qeudmnsl.

Correct the statements if they are wrong,.

(a) Alpha cells produce insulin and beta cells produce glucagon.

(b) Ovary produces eggs and Androgen.

Qer@éEstiud Gdrer LLSms amibgl Spee. L& BISaneTs GPl&Esa]D.

(<21) GrEHemes

(<) @loml Hludetluiay

Redraw the diagram and label the following paris :
(a) Exine
(b) Tube nucleus
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arpiewuilar oliqliuamiuie samLhls.
gulnflobn : udear gs@ser

Qeuersured : _
Based on relationship, fill up :
Whale : Baleen plates

Bat :

Ebsam UL g Sariib suerbs iquln s@rL LTsrisald o
Qran(h LrsmiseneT @0&sel L.

&
G
8
G

(=) Guerinrefen arenTd
(<=) GCarmbEaeay
(@) CanenGaular eumera)

() GasflEgw piemd

-

2 Uuu/w
E

T

P

%

s
W

| \ i
Draw the diagram and label any two parts mentioned below :
(@) Bowman'’s capsule

(b)  Glomerulus

(c) Loop of ITenle

(d) Collecting duct

[ SigplLis / Turn over
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24.

25.

26.

27

Gamc L aiman LiHs Glels.

(<=1) Germanior : eoLGTlGangler @rss Feulingny :
(=1,) @rgs GlaueTenaTiign) :

Fill in the blanks.

(@) Tlasma : Fibrinogen ; RBC :

(b) WRBC :

Qummbgrams CarEEsMH.

2 ewreyll urengulle LEdlsar :
(Qsrewrent_, eurl, euMLGEW!, Senerwib)
Pick the odd one out.

The parts of the alimentary canal are :

(Pharynx, Mouth, Buccal Cavity, Pancreas)

EupsanL 2 avals sudfldlaw Lgdg &fl belig, sismear oned Gndlrs
DrH.

woufl - @mal — sbuaTluFs > Lepbgl

Study the food chain below, correct it and convert inlo a pyramid of energy.

Mulberry — Sparrow — Caterpillar > Kite

Hopbul Qup QueTs aieTd TaTUgl @@ Gubes sudb. Gsmern wallg
psreden Caigamaat s Coauswis Qubems Blsnallams wrmmeTId,
CLHSETL. gbenD Ligdhs, SeINTEST Saag Fhuraigr crarlag emnd Gl

M D 9.8 Ty & S 20l
gaunTs @ s FHluTar monleeid sny.

A non-renewable resource is a natural resource if it is replaced by natural process at a
rate of consumption by human.

Read this statement and confirm whether it is correct or incorrect. If it is incorrect give
the correct statement.
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a5 SyTogdla 2008 - 2009 <i,b S enriged FHULlL Qzrhm Crriisater efeurnd
sl L eumpuLwnrs Gar@ssiiul Qdaeag. Qsmen by Cpréd
ShsemLsuniihe eflen_walléseb.

//l—\

Al_[ﬂ_r@ &l !J.Je::&e"u\
S \\
\

fli@engetlur

(1) Cmibuneones &&saneT Frésl CRITIIGET wrened?
(<) ereueumrm @ks Crmilser e dleimen?

The Pie diagram represenls a survey result of infectious diseases of a village during
2008 - 2009.

Analyse it and answer the following questions.

/ engue fevs
C

h1kungunya

(a) Which diseases affect the majority of the population ?

(b)  How are these diseases transmitted ?

ghpoe Csllsds ogod sTsamsmear  Spseneunilalmbgl
CaThbls(HEa6]0

(@allgpd wdusear, stdly Wer i, @flwu B &GO, Her Er @G,
L ellerd@ame, Weramam 106 ol )

Pick out the suitable appliances to conserve the electric energy.

(Fluorescent bulbs, copper choke, solar water heater, electric water heater, tungsten
bulbs, electronic choke.)

4850
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31.

32.

33.

10

26RIGDLE HE@TEME, Falblod Ferseilaimhg Coum L D580,
Distinguish between the true solution and colloidal solution.

20 Slgmb geniowa o UL 50 fymib Bifled SENTHEH(MBETE) SiEsemraa olgdlailen
g6y hlevpeniud samés ([s.

Find the concentration of solution in terms of weight percent if 20 grams of common
salt is dissolved in 50 grams of water.

Spsea 2 prravhiseia b HCarGLT, pCarumismaen @iepLwTaTLD
SHIT6001&.
A0 35 40 37
18817 1701, 59Ca™, ;C
From the given examples form the pair of isotopes and the pair of isobars.
A0 a5 0 37
1887, 17CH7, 5Ca™, 17Cl

(1) saemdLs sweed GHUhde bCumg)
(<) Quéetdlu prirenaus srhfla eriéwbCLrg.
erbgpeuenswirer Gaudl elilevansar Hlapn?

What type of chemical reaction takes place when :

(a) lime stone is heated
(b) & magnesium ribbon is burnt in air.

QUIm(BSHIS:
_ e B(m&s&5mIqW
6L.6T6UST | PLPEVIBIGET g
ojiblevmisaT
1 <= L1 Seir ‘%e})smrrsﬂéa 2ndlatb
2 T IOl T an e Lol mifls <y slevth
3 Eghjm'_amac ONe0ld <oy lenih
4 &&HE e S_MNg <dleid

Match the following :

51 No. Source Acid present
1 Apple Oxalic acid
2 Lemon i Tartaric Acid
5 Crape Malic Acid
4 Tomato C_.Eic acid
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38.

11 4830

@mibt] ST HCl whmih @i HyS0, 2 e ellenenfl&img). pama o
1INO, 2 s sflenarflaug) Glevama. 2 flu sTraTEeHILar 2 6T 64lepLenw 6T(LpI%.

Iron reacts with Con.HCl and Con.H,50,. But it does nol react with Con. TTNO,.
Suggesl your answer with proper reason.

Sl Blafluisslan Lwensar e eneaid Fnl.

Write any two uses of Aluminium.,

Epssray h Caronisamer Hs@mieLw elmablaue Cgrgduyen urmsss.

w16 Gririssi edlenenlawey Clgm@d
1 <L EDSRDTED >C=0
- =iy aman () ~ OH
3 U G ma - COOH
4 srTuréeniledlsd <idleotd _ CHO

Match the following compounds with their functional groups :

S51. Na. Compounds Functional Groups
1 Alcohol F=0)
2 Aldehyde -OH
3 Ketone — COOH
4 Carboxylic acid - CHO

Camg "L @l _misaner HlrliLs.

(=1) alleng = Blaap x WpHFSL eTaller 2 BFD = ?
(=) dlreu awaplrgen prébsl e LweatuBEng ereafle MRI

uLb Cgssader uweruBEng.
Fill in the blanks.
(a) Force=mass X acceleration, then
momentum= ? =
(b) Liquid hydrogen is for rocket, then
is for MRL

[ Huys / Turn over
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+ 39.

40.

41.

12

&p&sTamD Fmpnseta g Curmalar HleaopCur® CAerirldars smpan
GT (LTI

(<=t) Qg 205 Biglu@L BieTal

(=1) Bla @Quplued grras Carar® serssluu@dng.

(@) @& Aé grre Goran® Sardstu@dng.

From the following slatements write down that which is not applicable to mass of an
object.

(a) It is a fundamental quantity.
{by It is measured using physical balance.

{¢) It is measured using spring balance.

am SGar frmd Hleop wweagnd opoTs wrpplu@n Curg HaLsgb
ophmaas sansdd (@GPl @ C=3x108ms 1)

Calculate the energy produced when 1 kg of substance is fully converted into cnergy.
(Note : C=3x10°ms 1)

FhsaTemd Fnnisaia Seum Gmbsra &M Glewis.

(=1) ElDBS MM (PLDd TaTLF ST WG HaonsE @Gonhs <erey Ceuamea
QEplws Fmiguig.

() o LG &3S Fnlgw euwelle o drar Dpea WamhHiw, Bar(Hn mrn
L <2 - e <pDD n
LT (RSSETLD.

Correct the mistakes, if any in the following statements :

42,

(a) A good source of energy would be one which does a small amount of work per
unit volume of mass.

(b)  Any source of energy we use to do work is consumed and can be used again.

1.5 V Warallwus@eiams CararL @@ Warsadarser 5 g, 10 @ib, 15 b,
NengenLgem wHmD srell Geupeanps Garigras CasrarL @ sHmL
LIL SSear alan|s.

Draw the schematic diagram of an electric circuit consisting of a battery of two cells of

1.5 V each, three resistance of 5 ohm, 10 ohm and 15 ohm respectively and a plug key
all connected in series,
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13 4830
AemeugmLn QUTSSIILGSey Slenpaatlm 1196 masa,0b.
(1) srBsiIL@b erar Wy 1 b Qe e Sleray.
(<24) 8165 ellanss Car(sar smhs Clgan (wanemudes Clar_ridl e (penasiuad
(Plg.Wyih.
Correct the mistakes, if any, in the f ollowing statements -
(a)  Magnetic field is a quantity that has magnitude only,

(b) The magnetic ficld lines emerge from the south pole and merge at the north pole,

:%gpd;as@tfﬁrl_eummmés GO&E@ID saEmantlcn UNTERISenarT E(EN

(=) e Ureaanws SLOUURSgIDH QBT Fenaii_auib Do ol e
(<21, ) serani CQurmefer 19buih 2 S@TLIEGh Lyl S

From the following description write down the names of the parts in human eye,

(@)  Dark muscular diaphragm that controls the pupil.

(b)  The screen where the image is formed by eye lens.

a@Cur@ur Cr&TLE Sairantlc ol sflewsadld FTOURWD S ) LITTen 6L &
GONUTH =@, b5 @D eTeTey fa g SHGE Ry G]un.@sh&;emeﬂg
Glgaflaural) Lrissams stlurer £ payarar GlCaes CaTan () G (EHEODenLIE
&Ml Qednuzmb,

(<) @Cs aueauwirer Ceum @rar® euenss GODUTDsamers CHUNTLIES
(1) Samanm &if Gl&wugin cllgsens 2 W T586.

You know that Myopia is a common refractive defect of vision. Person with this defect
can see only nearby objects clearly. Using concave lens of suitable power this defect is
corrected.

(a)  Mention other tweo types of defects like this,

(b)  Explain how we can correct it.

[ $BUYS / Tumn over
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\Sifley - 11 / SECTION - IIT
(bHGLemsar : 20) | (Marks : 20)
() epeulelmy LeE A\ mHLID 0 edleorm alpd HIETIE QanTEH&EHSE
Qe wef&EEe|b. 4x5=20
(i) genlleumm SamednE DhS Lo H G LeTERET
(i) Caepeunimer @)L misatlad LILLD GUEnT&.
i) Answer any four guestions by choosing one question from each part.
(i) Fach question carries five marks.

(i) Draw diagrams wherever necessary.

Lu@d -1/ PART -1

46, =2uGf Gzmple mICLeilwedla LUIGUTHE®ET er (R8I,

What are the various applications of Bio Technology. Explain.

47. o st L@dudie oCafwr sl 2 eTeTgl.

(=) @ genars sLHLUESS o @& u.@:ﬂuﬂéﬁr 2 fw Cﬂ;{@[@%or'ra;@é@ G HIT

<=, Gavraane QIRTHIGE.

(o) wGevifllwiTalen sflwren Crimd P @Huilenen Carp0shes (SIS

(@emi, B(HESD WHOID SHHIESMLFELD, Gudl)

There is a widespread outbreak of malaria in your area.

()
(b)

Suggest some controlling measures {0 the local authorities concerned.
Pick out the right symptom for malaria.

(Chill and Shiver and a rise in temperature, Diarrhoea)

L@ES - 11 [ PART - II

48. LSGWO g,nrmméjaa@‘ﬂrfju ‘rﬁem_@ugm LureSlanieLHES apsmUdled FRUED Gra(
fspe|smar a(HSIS.
(21) I HHDe LHDID SEIDHIET UEDBHMET afleurl.

(<21 sala [HETENLD Senlosenan 6T (RIS

Wrile the two events involved in the sexual reproduction of flowering plants.

(a)
(b)

Discuss the first event and write the types

Give advaniages and disadvantages of that event.
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2 mIEEHen W LiGHud S SLOUUTI_ 966 Ln&ser Slaidlymlmrirsar.
srenGau 516 sLELLM 4 ene 56945 6 enGlamaren (LPEDDHEDE @I IT(ETRES T 6T?
In your area there is scarcity of water and due to this people are affected. So, what are
the measures to be laken by you to meet out Lhe scarcity of water.

L@S! - I / PART - TII

(1) ewan_regafer igiflam 1 &, o serdlserfien Sl@ibleem 16 £, erafles, Hifle
Slgmd epwsran Henmenw & GT S (H) 5.

() vEUuLLUrmeasallar s Ly 11 67 w9 &5 351D <5i @)l 69 1 g b
POSFNEGL o el GauyrHedr TGs@mID apailenar eripgis.

(a) Calculate the gram molecular mass of water from the values of gram alomic
mass of hydrogen and of oxygen.
Gram atomic mass of hydrogen=1 g
Gram atomic mass of oxygen=16 g.

(b) Atoms and molecules are the building blocks of matter. List out any three
differences between them.

(Hlemevmeucaauml e ClumsL@uwi whmib TUPAC Quiuiseser CT(LDGI5.

(1) CH;CH,CHO (<24) CH,;COCH,

(8) CH;— CH-CH; () CILCOOH (2.) IICHO
OH

Write the common name and IUPAC name of the following ;

(a) CH,CI L,CHO (b)y I 1,COCH,

(c) CHa—Cll'I-CI'i:a (d) CHyCOOH (e) HCHO
OH

L@dl - IV / PART - IV

(1) Bl aflen wppe @uuss cilflerw o1 (S5 68T HLan aflard@s.

Cmym, : - : ;
femy ) F= T g2 daug Ayl aflen mirldwe ofl £ uden saflg g e,

Bl e il eddullaman UINMTEmEsald er(ipg)s.

(a)  Explain Newton's first law of motion with an example.

Gm m
(b) F= “—dg——' is the mathematical form of Newton’s law of gravitation.

Give the staternent of Newton's law of gravitation.

[ Slmiiys / Turn over
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53, (<=1) SpsaanL LnEhiGeneT LiLh euenTbs GDH5@|1D

@) u@sg. i)  ela@S
(i) Séradln dv) elwEGs T &0 LD
(v) d&leng o Hp&ECsTeTLD (vi) elHGonamnd oz 51 Camand

(a) Draw and label the diagram given below :

(i) Incident ray (i) Refracted ray
(iii) Emergent ray (iv) Angle of refraction
(v) Angle of deviation (vi) Angle of emergence
A
A |
,/f \\ /’/
/ L e
N i /,” ; /\):"'/
H‘\\‘ ;/( » (‘i’TD \ P gl M
\‘.‘?{’,\:_://- ety ‘/ “///
l)'—" LT //E::;‘E'“
;/ ’,"f E \“\‘\ // \\ '-..\\\\
/ 52 M N ey
P / % -
/
-~ / N R
~ ," \
e N
B C

(2, eneurESe gafleflesa cream 2.42. gpetludlen HansGoussms Qumrmsg

@J_'TGEW&')@@[H_.%%I Quimane LITSI?

(b)  The ref ractive index of diamond 15 242, Whal is the meaning of this statement in
relation to speed of light ?

-00o0-



